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1. The OMR Answer Sheet is inside this Test Booklet.
When you are directed, open the top seal of Test
Booklet, take out the Answer Sheet and fill in the
particulars carefully with black ball point pen only.

2. The test is of 90 minutes duration and consists of 130
objective type questions, Each question carry 0.5 mark
for correct answer. Negative Marking: For every wrung
answer Y% mark or 25% marks of that question will
be deducted.

3. Use Black Ball Point Pen only for writing particulars
on this page and marking responses in the Answer
Sheet.
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by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet,

6. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No
whitener/ eraser / Blade is allowed for changing
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SECTION-1 | HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS

Q1 fy=fefaa ¥ & sW—wr s ‘Rurel’ @1 yataar) =8 27
(A) dfed
(B) @am
(C) drarf

(D) @& &

Q2 f=fefed # ¥ @F—w s &a1 & YEigardl T8l 87
(A) 3Tl
(B) &
(C) qa+

(D) HHR

Q3 frfafed § & oF—ur w= 3@ &1 yaigard T8 &7
(A) aféy
(B) =4

(C) g7

(D) T

Q4 Fr=fefaa 4 9 o W =g aow wE 87
(A) o
(B) WS
(C) amre

(D) wreA

P-KS-2 3
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Q5

Q6

Q7

P-KS-2

frfafaa 4 9§ @9 91 we acan T8 87
(A) &
(B) ¥
(€) @m @

(D) ggA!

Frfofaa § § a9 w1 1 aem 78 87
(A) 99
(B) ggv
(C) g
(D) W

Frfafed # ¥ o9 W v aoan T8 87
(A) 7€
(B) =
(C) &

(D) @

fr=fofea # & @19 W va agg =8 87
(A) el

(B) €

(C) =Agen

(D) =g
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Q9 i yR&A | Wi B, SV FEd &
(A) e
(B) {9
(©) Feh

(D) 3cied

Q10 ITE & ITHY q&cl WHAT B Hed &
(A) FufReftar
(B) amevara!
(C) wrEarE!
(D) FawRar<)

31687117

Qll HA & = & WHESHN @A BT FHET A &
(A) T
(B) GRITd
(C) erearemed
(D) H@waaT

Q12 79 | PF—H U ‘AT BT GAFM] T8I 87

(A) g4
(B) i &1 urA
(C) gagH

(D) famar wa

P-KS-2 -
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QI3 ¥ W -1 wIm ‘F=° &1 Al a8 £?
(A) e

(B) <

(C) =i ,

(D) o1 g3

Ql4 T ¥ PF-—WI &g T B AR T8 22
(A) S
(B) #awl

(C) s
(D) &

QIS fran & sremar Wsw & R & IER R vt @ wu Raffa By &2
(A) fadyoy
(B) a9y
(C) BRF

(D) Rea sy

Ql6 ‘Irar & wifem & Mulker & fare Far s wmar 22
(A) a1 & 3fd § F TR F |
(B) ®har & g ¥ I T &)
(C) @far & Ugdl i & & |

(D) @M1 @ Teat A&T T &)
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Q17

QI8

Q19

Q20

A wem B form Far 87

(A) gfesiT

(B) wife s
(C) e =
(D) wwafe

AqarE @ BIeHY quiEen @ et @ 9mW e foi # g 87
(A) gfeer

(B) wiferm

(C) TgEHIT

(D) SHgfeiT

7 | B w1 gfed W Wi v # g @ W g 87
(A) HET
(B) g
(C) ¥
(D) feR

fa=dt ¥ fro gae B &7
(A) <1
(B) O+
(C) IR
(D) df™

P-KS-2 7
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Q21 "H gerh (" F H & agama @ A
(A) &H

(B) T

(C) @

(D) %

Q22 Y@HRIA 6T V& PI qgadq a1 wHg 1 Sy amar 87
(A) 3ift w & qrg 4 & 2a 2|
(B) 3ift w@R & g1 Y Al @I S E |
(C) F P T oD W WX B 918 I TS & |

(D) $ & g9 D Idfow v & Wg i T S

Q23 fR= # g A 9 Y|l & ggad 9 @ forg w5 i @ wg @ oI
87
(A) 2=
(B) &)
(C) Il

(D) g

Q24 T ¥ ofdr % FORA # por H FWIRT # Ffera FeiA fbada &1
¥ Prea-ufdd § -1 PR 87
(A) 3ruTE
(B) ©IF
(C) 9%

(D) ¥y
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Q25 Hre BYa T WAl 5w 7 7 & wv| gﬁ%
BN B T D1 SR €, 7 B FAD1 GF | 31881888
T R H BT IR 8?2
(A) 9B
(B) 3Srgur
(C) SuHr

(D) 7%

Q26 ‘T F UM F@TFATA TgHI B JFDR B 8 I
& Sfdw # ugam ‘ot we &1 @ aef &2
(A) wuEq
8) Tor
(C) weH
(D) T

Q27 M TSN AC THIG TR 4§ BIA | B [ I ol U R 7E GER |
T Ffaar # gl e F§ IF-wr acier &7
(A) IrgamH
(B) wu®m
©) T
(D) SO

Q28 ‘IPROT A DA WE 87

(A) aogey
(B) rardrg

(C) gaga
(D) 3T
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Q29

Q30

Q31

Q32

T4gq §ANY 3§ PF—H Ug YU 8l 87
(A) 9@ 9%

(B) IR Ug

(C) 3T g HeH

(D) ®1E TET 98 wu=

GOl LOEE

Wi &1 v dR-Rwe &
(A) § + Sfa
B) 9 + Sf
(C) & + ¥
D) Y + fa

Y @ Wel Wi &
(A) TR+ T
B) WM+ 9
(C) 7 + W
(D) T + &9

@ W Wt &
(A) @I+ 7a
(B) ¥ + [a
(C) o + 1@
(D) a + 97

P-KS-2 10
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Q33

Q34

Q35

Q36

IR B GEl AR-RFwg &
(A) IIfer + IR
(B) 3 + MR
(C) 3 + amarR

(D) =T + TR

Tifde @1 we WAt &
(A) 719 + ¥
®) T + ¥
() 71 + fAa®
D) & + B

Fowdel BT el HE-fawy &
(A) 9 + S
(B) 9] + wad
(C) 8= + dd

(D) I +

Ry’ &1 w6 d-fawme &
(A) f&r + apar
B) f& + sraR
(C) fRw + amax

D) R# + 3w

P-KS-2 11
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Q37 ‘Scoua @1 wel Wih-fawme &
(A) 99 + &g+

(B) 9 + oud

CSoL502E

(C) S& + &E+

(D) 8 + &8

Q38 Fr=fefes & & g ara &1 waw o |
(A) 4 9B STF | BIg AFAAl TeT 81 o |
(B) a1l b O W ST ITAAT B WA ¥
(C) 91 9 W | & @1 IgHdl B 8
(D) a1 U WA A WA BT I a8 B |

Q39 fF=ifeafEa % & g&g argg &1 939 $ifow )|
(A) P91 TR G T €|
(B) P Gel TW < B U AN
(C) Pyar gl 9 €|
(D) P94 %P G U 27 A I BN |

Q40 Fr=ifeiRas & 9§ g a9 &1 99+ Hfg |
(A) Faf$ar 3 ere=1 dfe <@ g wE |
B) fafEar e ural em g 1E)
(C) fufar gmme dia T g forg
(D) fafar ewmes dia & g7 ¥ |
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Q41

Q42

Q43

Q44

ffafaa # § yg T &1 93+ |
(A) 9reT # ggaE-2 g fae €
(B) WRa A dgu—-2 @idg & 8|

(C) 9Na A Hgam—2 @i fdy &)

32011655

(D) ¥R X AgA—2 dig far )

frafafea % 9§ yg aeg &1 999 Hfg|
(A) qTEl BT FUS U A AR TET o7
(B) awr@l @ gue urh ¥ ¢ 8T A7)
(C) aI@l 31 gvs U § IR @ 9|

(D) TTE!l &1 Fos I H A o |

fr=ifeifiaa 4 @ gg @/9g &1 9399 Y|
(A) wfeai @ wifval & Riwd & ol &1

B) FfEi & mfval § fiamdr @ ol §)
(C) =ifedi & gt | Ri=mgdl i o 2|

(D) =feaf & grit & Riwd & o 21

e T qETER B UG el &

(A) &0 amg offg o1 e # aRafia &
(B) ameH Srar R

(C) =37 HIER HIEAT

(D) FEM I | A FT AT T

P-KS-2 13
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Q45 ‘3@ Qo AEIEY &1 wEr Ief &
(A) §F B
(B) w4 # ysI
(C) 3l e
(D) T X &I

Q46 @ B TRAT ¥ S’ AP B SugE i &
(A) #EE D HIE B IFNE T
(B) SUBR B IUYBR B AT B A W
(C) 9o & &gl WA Hel

(D) € FeHT WRIYHR HIAT

Q47 ‘fovmT Tt JERT A H SugE aef &
(A) 39 HHUTH DI WARE T FEA
(B) &1 Twdl &Y adl Suirelr BT
(C) TR NI &1 e =T
(D) F@e & Q9 &1 7 @ gl

Q48 ‘IMHAM ¥ N1 WoR W IeHT e @ Sugdd ek &
(A) FEI—Ha BT
(B) U 7§ F¥aw ¥ oA

(C) ¥t & geiad
(D) wiaa #F el &1 werr e
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Q49

Q50

Q51

Q52

IR T e & IugE I &
(A) foeht s/t &1 W BT

(B) @ § qFT

(C) e AT Rt avg @ frm v
(D) 747 IR HYA A J[BA BT

IYAT & @ fAEm &
(A) TE
(B) fBwan

2971655

(C) Hd

(D) S9 R

it o 1 e &
(A) ¥
(B) IacI®
(C) v

(D) TTEH

W " & A
(A) 3R
B) favrr
(C) amafa
(D) argef

P-KS-2 15
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Q53 & Wi &7 fAdm &
(A) Y@
(B) TN
(C) &fior

(D) wcrer

Q54 WM wier &1 faem &
(A) &=
(B) W@
(C) T
(D) gy

w5
s
)
2
&

Q55 ‘w=mf weg @ feim #
(A) W8S ARl
B) g
(C) I
(D) Frmf

Q56 ‘gom ¥ 1 faem &
(A) W9
B) o
(C) wersT
(D) B
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Q57

Q58

Q59

Q60

=t § 9 @S- v& vwe’ & waigardr T8 82
(A) 3raet
(B) srgel
©) AR
D) f&

Fr=fofe % @ S 9= aa’ 1 ggiEard TEé 82
(A) vreT
(B) st
(©) u
(D) a4

frafafaa & @ oS- 7= ‘sra’ &1 yafaard =8 &2
(A) AR
(B) St
(C) 3rfd
(D) aRg

frefafe & 9§ e-—ur v ' o i) 5@ &
(A) femam
(B) feamv
(C) fewax

(D) WY

P-KS-2 17 SERIES-BG
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SECTION-2| GENERALAPTITUDE TEST |30 QUESTIONS

Q61 Selectthe cube that CANNOT be formed Q61 % BFT (%78) &1 = &% ot Fyiferfam
Hiie @1 Y@ril @ Ffew Hdiea (bics)
by folding the given sheet along the lines.

FND FE GAAT O T § |
* e
% e 0 °.° —.
2'" om:
&
o=
(A).. ==/
e e
L R J (A)..
e [T/
®) |le] ® :.:
2
(o op' 8
C e ' !
© o e (C) :0:.0
A
(D)Q.. Lo
° o
il (D)oo'

Q62 A perosn is standing on Kelly’s Street Q62 TP Af Ball Fie W Wel § 3N TH9D
with the shopping mall to his left. Where a8 R wifhr dia &) Sud Refy @

is point *J’ in relation to him? Head W e <) wEi 87

(A) Inthe front
(B) Behind
(C) Tothe left
" (D) Totheright
P-KS-2 18 SERIES-BG




Q63 A person is at the intersection of Town road

and Moon Drive. He drives towards the
north of Moon Drive, takes a left on the
second road and then takes a left on the
first road. Then he drives towards the east
on the second road, takes a right on the
first road, drives towards the west on the
first road and then stopes at the first
intersection. Which place is closest to his

new position?

(A) Park
(B) Play Ground
(C) Police Station

(D) Primary School

| P-KS-2

6656852¢

19

Q63 <IN UE 3N 7 §I139 P IR W D

iR @eT & | 98 Y FigT W IR B
3R FIF AT B, TSP D IAH W
g 3R o 8, SR Y S areareh
TEeh W X O AR i & | @ aw
TR AT TE TSP W Gd Bl AR
F15a Tal @ AR el e w aifes
g el 2, Y uEd sl wed W
uf¥em ) 3R gEd Hvar & SN 3 A
UE AT dRTE UX S & | B T
I gul 78 Ry & wad Foe 87
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Q64 Select the cube that CANNOT be formed Q64 TH U (F48) BT 949 N I frferiiad

by folding the given sheet along the lines.

“m
6656862¢

@ |8
=

®) -

© .ﬂ

(D) ﬁg

Q65 Select the option that is related to the first Q65
term in the same way as the fourth term is
related to the second term.
CIRCLE : ?:: SPHERE : CUBE
(A) CORNERS
(B) RADIUS
(C) RING
(D) SQUARE

P-KS-2 20

e & Rl & FfRy Bies S Tl

AT ST Hehell B |

=

m) @

(A)

LIt

(B)

E

©

=

(D) '

99 f@ey @1 999 @ O IEd T 9
die ol yER | walkta & R yaR 9
oy Ug g¥R Ug § W @ |

ger: ? n Ml uA

(A)

(B) Prsar

(©) R

(D) @
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Q66

Q67

Q68

In a certain code language, MILLION is
written as IMLLOIN. How will HILTON
be written as in that code language?

(A) IHLOTN

(B) IHTLNO

(C) HILNOT

(D) HILONT

In a certain code language, CLOCK is
written as KCOLC. When RAMESHA is
written as in that code language, what will
be the first and last letters of that word?
(A) R,A

(B) A,R

(C) M, S

(D) A M

In a certain code language, ‘A’ is coded
as‘2’, ‘B’ iscoded as ‘4’ and ‘C’ is coded
as ‘6’. Which word will be coded as
‘1210108’ as in that code language?

(A) FEED

(B) DEER

(C) DEEP

(D) DOOR

P-KS-2
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Q66 & ff¥em He wmr § MILLION &t

Q67

Q68

IMLLOIN @ %9 % forar omn &1 <t
e W1 § HILTON &1 4 feran sga?
(A) THLOTN
(B) IHTLNO
(C) HILNOT
(D) HILONT

v faf¥aa #g wmr % CLOCK &t
KCOLC & w9 # forar wan 8| w9
RAMESHA &1 99t ff¥aa oe wmr 3
forar wig o ¢ U= & g AR 3
YR HAL T BI?

(A) R,A

(B) A,R

(C) M, S

(D) A,M

e fAftaa @e e 3 AT ST 2B B
# Ifea v s 8, ‘B’ @1 4° 3R C
P 6’ D WY H pifed fFHE o &)
frafofaa % @ 5w v o o0 I
wmar § <1210108° @ w9 A Hfsa faan
SIQTT?

(A) FEED

(B) DEER

(C) DEEP

(D) DOOR
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Q69

Q70

Q71

P-KS-2

In a certain code language, INDUS is
coded as 03865 and TENNIS is coded
as 243305. How will STUDENT be
coded as in that code language?

(A) 2568234

(B) 6548342

(C) 5268432

(D) 2856283

In a certain code language, THEN is
written as RLBS. Which word will be
written as AEPJ in that code language?
(A) CGDE

(B) CEAS

(C) SGHE

(D) CASE

Each of the letters below has been
assigned a unique number. Select the
combination of numbers such that the
corresponding letters when arranged
accordingly will form a meaningful word.
RUSGA

13579

(A) 7,9,5,3,1

(B) 5,3,7,9, 1

(C) 9,5, %13

D) 1,9,7,3,5

32629599
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Q69 us Al g W 3, INDUS ®1 03865

Q70

Q71

@ wY ¥ forar A & sk TENNIS &
243305 & w9 ¥ forar o & | 94 5
991 # STUDENT & fovwr wu ¥ foran
STgT?

(A) 2568234

(B) 6548342

(C) 5268432

(D) 2856283

@ fAf¥ea Fe wer 3, THEN @ RLBS
% Wy ¥ forar o 81 Frafofea § 9
fae e &1 39 2 T A AEP) @ w9
# forar wgar?

(A) CGDE

(B) CEAS

(C) SGHE

(D) CASE

e Ry MU ydlE e B P g
e e & T | el @ wae
BT 94T 5 TR | B B 99 IqHY
v e v o o ve iyl
& 9 WY |

RUSGA

13579

(A) 7,9,5,3,1

(B) 5,3,7,9,1

(€) 9,5,7,1,3

(D) 1,9,7,3,5
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Q72 Select the word that can be formed using

Q73

the letters of the given word only as many
times as the letters have been used in the
word.

ALBCILANOTORO

(A) COLLABORATION

(B) COLOURFULNESS

(C) LOCOMOTE

(D) LOCOMOTIVE

From the following letters, select the sixth
and fourteenth letters from your right and
select the fifth and twentieth letter from
your left and form a meaningful word.
ABCDEFGHIJKLMNOP
QRSTUVWXYZ

Which of the following options is correct
regarding that word?

(A) No word can be formed.

(B) More than one word can be formed.
(C) Eisthe first letter of that word.

(D) M is the first letter of that word.

P-KS-2
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Q72

Q73

[ W HT g9 ¢ o Ry v e
&1 IYERT TS T O HaHaT 8 AR
few wv SRt @ Sudn Soh @ ar
for o foraet IR ST SuEn e
T B

ALBCILANOTORO

(A) COLLABORATION

(B) COLOURFULNESS

(C) LOCOMOTE

(D) LOCOMOTIVE

frmfafaa et § & a9 o I |
B8 IR diged 3Rl @1 9uT W AR
A art & diad i fad Rt @ T
X IR U aRiE e T |
ABCDEFGHIJKLMNOP
QRSTUVWXYZ

T T I B way ¥ el § 9
@ W Ao v 8?7

(A) @ e 78l 991 |ba |

(B) U% ¥ WP W& a7 FHa £ |

(C) 99 ¥& &1 ysa &R E &)

(D) T4 T& FT AT AR M B |

SERIES-BG



32229599

Q74 Form a meaningful word with the third,

Q75

fourth, fifth, seventh and tenth letters of the
word ‘PERSONALITY’. What is the last
letter of that word?

(A) R

(B) A

T

(D) S

Select the fourth, seventh, eleventh and
thirteenth letters of the word
‘CATEGORISATION' to form meaningful
word(s).

Ifonly one word can be formed, then select
the third letter of that word as the answer.
If more than one word can be formed, then
select M as the answer. If no such word
can be formed, then select X as the answer.
(A) G

(B) S

€)M

(D) X

P-KS-2

Q74 °‘PERSONALITY’ & @& &, 2], uiad

Q75

wred 3R TR 3ERY BT U W I
oD U ArRfE W a1 i Y| 99
& BT e 3R Fr B2

(A) R

(B) A

T

(D) S

i s /vl B a9 3 fau
‘CATEGORISATION' ¥/t & ), wieie,
e 3R TRed R & 9aT Y|
Ife Had (@ NE &9 FHar &, A IE
& W9 W 99 TR B A ER @ 9aH
BN | A (P 9 AP v 77 v €, ar
IR B WA M B G| Ak T B
9% T8I g1 S 6T 8, A X BT I
D A g

(A) G

®B) S

(C)M

(D) X
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Q76

Q77

Q78

Q79

Select the number that can replace the (?)
in the following series.

3:2,7.6,11,7

(A) 6

(B) 10

©) 8

(D) 4

Select the number that can replace the (?)
in the following series.

29,23,18, 14,7

(A) 12

(B) 10

(€) 11

(D) 9

Select the number that can replace the (?)
in the following series.

240, ?, 120, 40, 10, 2

(A) 240

(B) 320

(C) 420

(D) 580

Select the letter-cluster that can replace
the (?) in the following series.
DEB,IJGNOL,?,XVY
(A)STO

(B) RSP

(€)STQ

(D) RSQ
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Q76 frfeiRae sjaen 4 (2) & Sre wfowenfia

Q77

Q79

81 WH arell G BT g DY |
3,2,7,6,11,?

(A) 6

(B) 10

(C) 8

(D) 4

frafaRed sjiaar 4 (2) 9 w8 uftwenfi
B W& arell | @ 9a @ |
29,23, 18, 14,7

(A) 12

(B) 10

(©) 11

D) 9

FrferiRae sjaen 3 (2) @ e wfovenfia
8§ a1l G B GIH DY |

240, ?, 120, 40, 10, 2

(A) 240

(B) 320

(C) 420

(D) 580

fr=fafeaa saer # S0 seR—wE &1
A BN T (7) BT W SUGET B9 H o
S |

DEB,IJGNOL,?,XVY

(A) STO

(B) RSP

(©) STQ

(D) RSQ
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Q80 Select the option that when sequentially

Q81

placed in the blanks of the given series will
complete the series.
C-3,E-5G-7,1-9, .,
(A) K-11,M-13

(B) O-15,X-24
(C)M-18,K-14

(D) X-24, M-21

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the
statement.

Statement:

There is a general protest from the
inhabitants of a certain area that the report
submitted on riots in that area has been
fabricated based on prejudices and
commission has not presented the whole

event.

Conclusions:

. Another inquiry commission should
be sent for proper investigation.

Il. The members of the commission
should be severely punished.

IlI. The next commission should

consist of inhabitants of that

area only.

(A) Both conclusion I and Il follow.

(B) Both conclusion Il and 111 follow.

(C) Allofthe conclusions follow.

(D) None of the conclusion follow.

P-KS-2
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Q80 T Rt o1 wzm H o P=feRaa

Q81

32789599

s ¥ Raw v w el 53 ot
a3 g9 @ o of e &)
C-3,B-5,G-01-9,_ .
(A) K-11,M-13

(B) O-15,X-24
C)M-18,K-14

(D) X-24 M-21

A Ry v FuE v fred @ erm 9§
ug 3R fofy o s @ wr freed @em
T A HY F IR BT 8 |

HYH:

el ey & & FarfRml 3 am e
T g Do b I &= # <Y 9w wga
Rard &1 yatusl & smm w weTea wu
A e far mar @ ofw e A o
HeAT o1 fagwor 1€l faar 2

e

1. cftw wfe @& fow o guv v
T venfia fsar s Wiy |

II. ST & Hewl B w9 F
W e aifde |

11, 3T it T # dae 9" 87
@ it &1 miva fear s
ey |

(A) frepd 1 3R 11 1 srgavor avd €|

(B) s 11 alR 111 ST s &
gl

(©) 0t Frepd argeRr o &1

(D) B N Frepd srawer 78 T &)
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Q82 Consider the given statement and decide

which of the given assumptions is implicit

in the statement.

Statement:
For the efficient preparation of current
affairs, one should daily take notes from

the newspaper.

Assumptions:

I.  Current affairs could not be prepared
for efficiently without newspapers.

[I. Making daily current affair notes help
in efficient preparation.

(A) Only assumption I is implicit.

(B) Only assumption Il is implicit.

(C) Eitherassumption I or Il is implicit.

(D) Neitherassumption I nor Il is implicit.

P-KS-2
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Q82 sl Ry v Hum W far ¥ 3k fivfa

o & ywga aromslt ¥ § @9 e |
fafga 21

HY:
i R (e sad) @ e
&l @ Rorg AW AR W AreE 7
AR |

IR

L w9ER 9= & e amfde ey
(P Imad) @ dur FRIerT @
Wl T @ o w8

I ST #E IHTH @ AeH a9 9§
) ave | U A wew e §)

(A) Fw awon [ wes F ke &)

(B) e arom 11 wem ¥ fifga &)

(C) anararom 1ar 11 e & fafka &)

(D) = &t g 13iR 51 & 1 3o &
e &)
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Q83 Consider the given paragraph and decide

which of the given assumptions in the
options is implicit in the paragraph.
The school, which used to provide free
breakfast to ensure that the students
receive at least one proper meal a day,
stopped the facility from January as the
charitable society that used to fund the
breakfast withdrew support due to drop
in donations.

(A) The students may not receive any
proper meal from January.

(B) In furture the donations to the
charitable society may further
decrease.

(C) The donations received by the
charitable society are used for social
welfare.

(D) The familes either do not have the
ability of provide proper meals to
their children or they are ignorant of

what a proper meal is.

P-KS-2
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Q83 Ry 7y @ W fFar o 3w fFvla &

f& fameai 4 € 1§ wrgaRll § 9§ B 6

sqess ¥ fARka 21

% fag@rera, ST gue e W Sl

o1 a@ifs el B wfafds o9 | 39

R S w9 | 9I9E Her W 81, |

oA W 3w gRenr @t 98 @ fRan

i AReger Wl o guEr yau

HYch oft S W B 9T <7 F @ o

Té|

(A) BTET B TFa I PIg TS How
81 e \ear 2

(B) wfae # @REaa arwgd @1 Ry
MY g A SR W a8 )

(C) =R WIFE ERT W S B
IUAIT s Hearr @ fog fear
i 2

(D) TRart @& ure a1 a1 U a=al B
U W WS @Y B T el
219 39 9 W e € b o
Ao 4ar 8|
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Q84 Read the following paragraph.

The importance of education and learning

has been recognised since the beginning

of time. Education means o lot in a

person’s life as it enhances learning,

knowledge and skill. Education must be

given more importance than other target

as it is the main thing which shapes one’s

career. Education has a lot of advantages.

Education is very good tool that benefits

everyone throughout their lives.

Which of the following options is NOT

one of the advantages of education?

(A) Education makes a person capable
of standing strong in the society.

(B) Every person has the right to
education.

(C) Itbrings a feeling of equality among
all people in the society.

(D) It makes people strong mentally,

socially and intellectually.
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Q84 Ffafed srese & ud|

e ¥ A R ek Ren @ wwa @
wrgan 41 78 2 | R afde @ offe |
TR %1 agd & wurer Hew @ wifd U8
YA S 3R Do o ggrar & | e
0N 3 ey & gorr d e o s
#eed feam ST =fey it g€ a1 g
@@ ¢ s oifga & R fRaar &
fen & aga wae €| Rem @ agad
I=BT W 8 W ol B S oftaw
At &var 8 |
frfafea § @ 9 W Ree Rer @
arl A | @ FEl 87
(A) foen @fd &7 w99 § woaa 99
¥ W @ 2
(B) e afd o1 e &1 aftar 2
(C) I 9art & 9 S A Erar
& AIET AT B
(D) ¥& wni &1 wEfls, amfe s

difEge w9 | e 4T 8
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Q85

Q86

Q87

Five words have been given, out of which
four are alike is some manner and one is
different.

Select the odd one.

Satellite, Star, Sun, Earth, Universe

(A) Universe

(B) Earth

(C) Satellite

(D) Star

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Mongoose, Beaver, Porcupine, Rat,
Guinea pig

(A) Beaver

(B) Guinea pig

(C) Mongoose

(D) Rat

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Dollar, Cortes, Dirham, Lempira, Taka
(A) Cortes

(B) Lempira

(C) Dollar

(D) Taka

P-KS-2

6696052¢

30

Q85

Q86

Q87

9 dfe v Ry g E Rl ¥ ar
& 1 5t yor & ve waE § o
P g = R

=1 @1 g7 #¥

(A) 7Emie

(B) A

(C) SwuE

(D) @1

78t dfa W& Ry v & Rrnt 9§ ar
f&e 1 frdlt yor 9 ve W el
F 5 A R

=1 &1 9 &)

Aqen, Hefaema, wE), e, Al R
(A) SHefdema

®) fi R

(C) et

(D) &1

get ufe v fRy v & R & W)
f&ef 1 et uoR | vF v § of

a7 = R
1 &1 99T 39|

(A) BIEH
B)
(©) e
(D) &1
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Q88

Q89

Q90

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cataract, Cellulitis, Glaucoma.
Hypermetropia, Trachoma

(A) Hypermetropia

(B) Trachoma

(C) Cataract/Glaucoma

(D) Cellulitis

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Ear, Leg, Heart, Kidney, Hand

(A) Leg

(B) Ear

(C) Heart

(D) Hand

In a class of 100 students for a social
activity, 50 liked to go for tree planting
and 70 liked to go for cleanliness drive.
10 students did not like either. How many
liked both?

(A) 12

(B) 25

(C) 30

D) 15

P-KS-2
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Q88

Q89

Q90

I8t Uiy e v v #, R @ aw
1 et ypr ¥ 1w # AR U T
=1 &)

=1 @1 79T BN

aifeaifas, sif@-yam, qai,
BIFURARIAT,

Lo

(A) BT

(B) &

(C) #fcvanfde / wegrn

(D) PIf¥FHI-yaE

781 ug vre fay g & e @ ar b
1 fefl R ¥ @ w9 € 3R UE 3
= &1

=1 @1 g |

(A) T

(B) Fr

(€) &e¥

(D) &™

e wenfeie @™ @ fag 100 BEF @
Fen ¥ | 50H U WM @ ferg wmn
e fhar sk 70 7 W afe ¥
S @ FST SiaTg | 10 BTET @ 3 9§
3o M g T8 | F wriie
Frt @1 fas Bl F uwe R

(A) 12

(B) 25

(C) 30

(D) 15
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Q91

Q92

Q93

Q94

SECTION-3 | GENERAL KNOWLEDGE | 40 QUESTIONS

India’s first digitalised Panchayat ward
was

(A) Kerala

(B) Maharashtra

(C) Gujarat

(D) Rajasthan

Which is the highest peak in the Western
Ghats?

(A) Anamudi

(B) Meesapulimala

(C) Masinagudi

(D) Vagamon

Which is the longest mountain range in the
lesser Himalayas?

(A) Dhauladhar range

(B) Mahabharat range

(C) PirPanjal range

(D) Shivalik range

__ arelongitudinal valleys formed as
aresult of folding when Eurasian plates
and Indian plates collided.

(A) Ridges

(B) Ranges

(C) Craters

(D) Duns
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Q91

Q92

Q93

Q94

R 1 v fRee dam
ad &)
(A) B
(B) #EwIS:
(C) Torm
(D) rSiRer

Prafefaa 3 & 9 W fwe, ol
HIe &7 ware Rraw 87

(A) SFTEgE!

(B) Hragferre

(C) RS
(D) arTHE

frafafea # ¥ I e, Tgm
fRwrera ¥ uda & wewt @ gdamen 82
(A) eiterm gdemTer
(B) ¥WBMIRG qdaHTern
(C) 9 gsirel e
(D) Rmanfers ydemmen

L i @i vd aRdE we @
eovE W, Rige & aRemasy FAffa
wqaa aifeal €|

(A) Reora

(B) Yur¥

(C) Wex

(D) s
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|
l Q95 is the southern part of the ancient Q95 , AT e vatga weE (gue

super continent Pangea with Angara Land Hiere) Hmar 1 el wor & R
in the northern part. T AT H TR g Rera &)

(A) Eurasian Plate (A) TRAE @

(B) Tethys sea (B) 2R wFI

(C) Indo-Australian plate (C) ia—aigfoaE we

(D) Gondwana land (D) TiEarT A

Q96 One of'the distinct features of the peninsular Q96 WHEdM el ¥eM (UOR) H @

31931655

plateau is the black soil area known as e fadean, el ) @ &3 @, ARy
HEd 8

(A) Chotanagpur plateau (A) BICFIIYR YoIR

(B) Deccan trap (B) T&F {U

(C) Singur plateau (C) RiR wor

(D) Rohtas plateau (D) V&N IO

Q97 Chilika Lake, the largest salt water lake in Q97 faferar diw, anfeem vy 3 Rew wra

India in the state of Orissa, lies to the south DR IS AR B,
DER = @ TRl 3k Rem &)
(A) Baitaranidelta (A) Foolt Seer
(B) Brahmani delta B) arEAh ST
(C) Budhabalanga delta (C) guaeT ST
(D) Mahanadi delta (D) WETTEl ST
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Q98

Q99

Lord Willian Bentinck, the Governor
General of India passed a law in
abolishing the custom of Sati.

(A) 1819

(B) 1825

(C) 1829

(D) 1832

In___ GuruGobind Singh convened
a general meeting of the Sikhs ar Anandpur
Sahib on Baisakhi day and laid the
foundation of Khalsa (or the pure).

(A) 1679

(B) 1684

(C) 1691

(D) 1702

Q100 Allan Octavian Hume, a retired English

ICS officer, formed the indian National
Union in
(A) 1862
(B) 1876
(C) 1884

(D) 1891

P-KS-2
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Q98

Q99

WRA P T4 O dre faferam afves
= Wty v BT wA S 8 99
# B wiRe far an

(A) 1819

(B) 1825
(C) 1829

(D) 1832

af _ # 7e nfdg g A 6l
feaw =1 arFege wifee # Ryl 9 wrr
do% gars o o we (@rEr 9fdE)
&1 g r o |

(A) 1679

(B) 1684

(C) 1691

(D) 1702

Q100 Vol 3ifeefaa= g, U Haifigd 3dsl

ICS iforsm 7 ¥
AT WY BT TS fhar 4r|
(A) 1862

H ARg

(B) 1876
(C) 1884

(D) 1891
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Q101 The Gurmukhi paper called Swadesh Q101 THHHEl &I, WY WA B AW 9

Sewak, which advocated social reforms vaferd o, Rt wmfore GUR B e
and also asked Indian troops to rise in revolt g forar wrar o sy w8 wdg At
against the British was brought out by 3 | 3 @ faeg g &1 & 77 &
______ from Vancouver during the ¢ off, BT WA GIM B IR TR @
freedom struggle. uIfer T siwar o)
(A) GD Kumar (A) SIS HAR
(B) Tarak Nath Das (B) dR& - BT
(C) Lala Hardayal (C) 9Tt sv&ara
(D) AhitSingh D) afoa Rig
Q102 Subhash Chandra Bose became the Q102 g1y ©% a9, 9§ W BN
President of the Congress Partyin . el @ aregsy 99 o |
(A) 1932 (A) 1932
’ (B) 1938 (B) 1938
(C) 1941 (C) 1941
| (D) 1943 (D) 1943
QI03In ______ the East India Company’s Q103 af # &% =fear a9l @ wEel
ships defeated the Portuguese in the Swally A A B g R el gegerdt #
estuary off Surat. gahmferal ®r wwfera fsar e
(A) 1609 . (A) 1609
(B) 1610 (B) 1610
(C) 1612 (C) 1612
(D) 1618 (D) 1618
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Q104 When was the Associated Chambers of

Commerce and Industry of Uttar Pradesh
founded?
(A) 1991
(B) 1994
(C) 1999

(D) 2001

Q105 The Uttar Pradesh Government’s ‘One

District-One Product® scheme aims to
encourage in Uttar Pradesh.
(A) agricultural innovation

(B) digital wallet

(C) indigenous and specialised products

(D) computer knowledge

Q106 The Uttar Pradesh Government has signed

a Memordandum of Understanding
(MoU) with to promote khadi
apparel manufactured in the state under
the brand of ‘UP Khadi’ in the year 2018.
(A) Walmart
(B) Reliance
(C) Patanjali

(D) Amazon

P-KS-2
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Q104 SR Wy ¥ R aifrsy ud SenT

v (garm ) @ v few 7 @
g o7

(A) 1991

(B) 1994

(C) 1999

(D) 2001

Q105 TR Y HYHR # Td Rie—va S’

Ao &1 06, SIRYRM A &l
WicATfRd v 2 |

(A) PR =R

B) fforea dae

(C) sl 3ir fady 9aurg

(D) PRER BT §

Q106 SR WY WYHR A ad 2018 F N

QR Ame #ie & aga wod § fAfia
W ITHE DALY D N
FHEaT SO (MoU) R &wieR far
gl

(A) araEe

B) Rerdw

(C) UciGtell

(D) 3G
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Q107 There are Special Economic ¥

Zones in the state of Uttar Pradesh. ‘5‘
(A) 10
(B) 12
(C) 16

(D) 19

Q108 ‘Krishi Kumb 2018* washeldat
in Uttar Pradesh.
(A) Prayagraj (Allahabad)
(B) Bareilly
(C) Lucknow
,' (D) Gorakhpur
|

Q109 Kanya Sumangala Yojana was was

launched in Uttar Pradesh to promote

(A) employment opportunities for girls

(B) digital literacy for girls

(C) sports participation opportunities for
girls

(D) health and educational standard for

girls
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Q109 IR yo¥ #

QU7SER WRwr v H v anff

&= fagaam &)
(A) 10
(B) 12
(C) 16
(D) 19

Q108 S&R Uay ¥, i By T3 2018

&7 AR @ oy
(A) WATRI (FATETE1G)
(B) a¥eh
(C) aa@Ts

(D) TREYY

@ WA 8q Hal

GATAT AXAAT B oI B 7S off |

(A) wrefral @& forg A & s

(B) @i & forw fRfea wrwa

(C) wrsfbal & forg @t 7 wrfier &
CILEIN

(D) wefal & foy wWrey wa
dufdrs S
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Q110 Shabari Sankalp Abhiyan was launched in

Q111

Uttar Pradesh to

(A) eradicate proverty

(B) eradicate malnutrition
(C) eradicate unemployment

(D) eradicate illiteracy

The ‘Kishori Balika Yojna” proposes to
give balanced diet to the girls not going to
school for days in a year.
(A) 125
(B) 150
(C) 275

(D) 300

Q112 The state of Uttar Pradesh ranks

for availing benefits under the
Pradhan Mantri Kisan Samman Nidhi
Yojana (PM Kissan).
(A) first
(B) second
(C) third
(D) fourth

P-KS-2
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Q110 SR wow ¥ &g 99 Hae

Q111

I ) goema @ T8 o
(A) T T FE

(B) BT X e

(C) R T T

(D) e @ F

fad aferes g, add
et & forg fagareg # suflem = B9
W Tefeal @1 Hferd smeER yaH o9
B YD B B

(A) 125

(B) 150

(C) 275

(D) 300

Q112 vy %= v wm ARy are=m (PM

Kissan) & T8 &M W<l & @ Hae i
TR VoW T B
2|

(A) gEw

(B) quvr

(C) &t

(D) dwer

T 91w
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Q113 is a dance-drama of semi historical

tales and ballads traditional to the state of

Uttar Pradesh.
| (A) Ghoomar
:, (B) Kalbelia
(C) Svanga
(D) Pulikali

Q114 *Hardaul Katha’ are folk songs typical to
which spreads over Uttar
Pradesh and Madhya Pradesh
" (A) Mirzapur
(B) Bundelkhand
(C) Awadh
(D) Braj

QIIS___~ is a popular monsoon
entertainment in Uttar Pradesh and Bihar,
(A) Jhoola
(B) Viraha
(C) Svanga
(D) Rasiya

Q116 India ranks __ in the world
' production of pulses as on 2017-18.

(A) first

(B) second

(C) third

(D) fourth

P-KS-2

SSSI60EE

Q113 , OGN UeY USY P YU
& Camfhe setal vd marfia @

Qill4

QI15

Ql16

TS 8|
(A) g

(B) Hrraferan
(C) wamT

(D) yfaafa

‘BYale dur, ey U |
& it § oY fh Sww wewr vg e

WSw § Bl B¢ § 1
(A) sy

(B) deviEs

(C) 3aw

(D) &=

G UeY U9 fasR @ aier @

A Y T UF AIDNg FERG 2

(A) el
(B) faxer
(C) =
(D)

2017-18 & 3HR, T @ aRae SwreA

H WA
(A) uEal
(B) qu¥
(C) drwr
(D) e

W £
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ceoLLBIE

Q117 The Revolution has made India

the world’s largest producer of milk.
(A) Green

(B) White

(C) Red

(D) Blue

Q118 In 2019 which tea company launched the

most expensive tea yet priced in India?
(A) TataTea

(B) Teabox

(C) Society Tea

(D) Duncan’s Tea

Q119 Who among the follwoing became the

Prime Minister of the United Kingdom in
July 20197

(A) Jeremy Hunt

(B) Ari Shapiro

(C) Boris Johnson

(D) Theresa May

P-KS-2

_ wifa & 9ra, fawa @ wad
Q1 T INED AU & TAT & |

(A) ®Ra

(B) w@a

(©) @

(D) et

Q118 ad 2019 ¥, arg = frw HoN F W #

I TF T W G P Uy B #?
(A) erer &

(B) Crdiw

(C) wragdt &

(D) s <

Q119 gorrg 2019 # fFrifafan 4 & 59

gAEes e o1 wem w2 gAT T 82
(A) 9of e

B) R Aftrar

(C) aRw vt

(D) o A
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| Q120 Who among the following won the *Tour
De France’ 20197

(A) Geraint Thomas

(B) Chris Froome

(C) Steven Kruijswijk

(D) Egan Bernal

Q121 Which nation hosted the 2019 World
Aquatics Championship?
(A) China
(B) South Korea
(C) Japan

(D) Russia

Q122 Which of the following is the most
populated city in India as on 20197
(A) Kolkata
(B) Mumbai
(C) Bangalore

(D) Lucknow

Q123 In to how many component is GST
divided?
(A) One
(B) Two
(C) Three

(D) Four
P-KS-2 41

Q120 F=feriad # & @ =¥ & wiw' 2019

(@)
o

Q122

QI23

&1 ot &2

(A) WVe oiFg

(B) fa wH

(C) Va7 smpzivas

(D) 99 9%

foa wreg A 2019 fazg SasieT
sfcraifiamet (@8 tplee A=)
&I AT fFar o

(A) 99

(B) =fEyor sifar

(C) w91

(D) w4

2019 & arqer, Frafafag § 9 e §
fvr wev @) SeEn ey aife 27
(A) DIABTA

(B) Has

(C) e

(D) 9@ %

avg d Har o (Sivwd)) &Y o aeel
A fenfora fsar wrar 87

(A) Tsh

B) &

(C)
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Q124 The Registration of Birth and Death Act Q124 5 3R ¥ B UIHr @1 T,

came into force in the year ; ay # wr fasar T o)
(A) 1964 (A) 1964
(B) 1969 (B) 1969
(C) 1972 (C) 1972
D) 1981 (D) 1981

Q125 The Taxation Laws Amendment Act, Q125 HYMH HF waEE JfRfEE, 2017 9

2017 replaced Clean Energy Cess with q W Ul SUBY B

wforeenfia fsar 21
(A) Clean Air Cess (A) We3 Bdl IUHY
(B) Environment Cess (B) yafaveita Suar
(C) GST Compensation Cess (C) SMuwe (GST) wfegf Suav
(D) Sustainability Compensation Cess £ (D) fRerar ufergfd Suav

Q126 Which state in India has the highest urban Q126 2019 & IHR, ¥R B by og o

population as on 2019? e S WA Ifte 87
(A) Tamil Nadu (A) dffrerTg

(B) Gujarat B) Tor

(C) West Bengal (C) ufR¥aw q7re

(D) Maharashtra (D) #ERTS:

Q127 Which was the first state of India to Q127 wra ¥ fre oW A WAWYH dE I

introduce the Panchayati Raj? I goATT DI A7
(A) Gujarat (A) ORI

(B) Rajasthan (B) VIoTeIE

(C) Madhya Pradesh (C) we yaw

(D) Tamil Nadu (D) afierrg
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Q128 ‘Economic Reservation in India’ was
passed by Amendment __ of the
Constitution.

(A) 101
(B) 102
(C) 103
(D) 104

Q129 When was the Constitution amended for
the first time?
(A) 1947
(B) 1951
(C) 1953
(D) 1957

Q130 Who among the following was the first
woman Sarpanch of a Gram Panchayat?
(A) Shahnaaz Khan
(B) Sushma Bhadu
(C) Chhavi Rajawat

(D) ArtiDevi
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Q128 wfur & HOEE B TRY AR

¥ anfdfes smeror WA fbar Tar
(A) 101
(B) 102
(C) 103
(D) 104

Q129 &y af # wium &1 e wduew

famar T or?
(A) 1947

B) 1951
(C) 1953

(D) 1957

Q130 Fr=feifaa % J oW um Jara & wdwm

AR wRyy 87
(A) YBIS @H

(B) {591 5g
(C) ofd womaa

(D) AR 24
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Read the following Instructions carefully :

"o

10.

11,

1. Out of the four altemati for each questior
one circie tor the correct answer 10 be darkened

completely with Black Ball Point Pen on the OMR

Answer Sheet. The answer once marked is not liable
0 be ¢changed
ne « (v ERE nouid 1at the Answ sheet
: I { -
5 { 1010€ { R AE A

Answer Sheet, Do not write your Roll No. anywhere

clse except in the specified space in the Answer Shee

Handle the Test Booklet and Answer Sheet with care.

28 under no circumstances (except Lor discrepancy in
Test Bookle ), Another set Y 1 D€ provided.
he candidates will write the comrect Test Booklet

Series as given in the Test Booklet in the Attendance

Sheet

Each candidate must show on demand his/ her Adm
Card to the Invigiiator

No candidate, without special permissi ) ( [

Superintendent or Invigilator, should leave his / her
scal,

I'he candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not

n e Altend

SIRNeA (
have handed over the Answer Sheet and dealt with as

an unfair means case.

Use of Pencil/Electronic/Manual Calculatq
prohibited

The candidates are governed by all Rules and
Regulations of the Commission with regard to their

conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and

Regulations of the Ce

mmission

Alter Examination is over, candidate has to return his

Answer Sheet to invigilator, Invigiiator will hand over

the Candidate'’s copy o ¢

igate, tnen onky

hall.

candidate is allowed to leave the examination
Candidate is only allowed to take Candidate's copy of
answer sheet

Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the

Invigilator after the exam.

Frafafaa Aol &)
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10,
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Al TN @ U H 3 IT % U

! ’7 " ) [H TV 3 ! Dl :5‘ H T
e 39 qdgoll + T 4 8
O 3 - Y Yy
ar £ o ; 5
UNIETTRIT SI9AT S @HT® ST YAE H
PriRa s & afaRas a=u= 5 fad )

.. - Cy C 3§ ” e

AT Y. & THET 4 9Ivives H (I

CUAIRNEGE IR P ) QY GYiE]
> ' = 1

qixeiept Ud 9N Yae GUeTEl T80 YT

VIET Qi | o1 141

hl ‘4~J-.".1|‘-'1T el 4 | QUG 999 H
v |
y8 W Y TE g T B

=T wayr o= fawm |

NEFH AT T NG T - 2y
EE1 hlg e SIUT ¥IH |9 BliE |
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fasr ademelt T wiE S8 s | afe
faredt gdleedt < SuRerfty ga@ uw ewemer S8

8l ST 8 3N 48 It 9E= 6 HiE

G @ 90
H1 eler 2

ufa

el & JOH HRI o O &) 3 &

st § o) | SR uEa @) e

R 1 Y vy 1310 > vy <3 v Y
e @ sy gfErefl s o gRaw
o avadEs &) eterd g | wher yRam
& el 39 arg 98 F o1 ged 2|
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